	1. Реши задачу:
Длина озера Имандра 100км, а глубина – 20км. На сколько метров длина больше глубины?
Поставить знаки «> , <»:

23   5
            18   37

68   86

  3   57

64   69

17   18

80   8

72   22


	2.Выполни действия:

24+35=                              38-20=





59-27=
                               7 + 8 =

 

42+57=                              75-31=





64+11=                              13 -7=



	3.Выполни действия:

8+6=
                                    6+5=


8+9=                                       7+8=        


8+8=
                                    5+7=


4+7=
                                    6+7=



7+7=
                                    9+9=


	4. Реши уравнения:
Х    +    8   =   16
               Х   –    7   =   4














